SET -2

A A,

Series : SSO/1/C HISH.
Code No. 5 9/ 1/ 2

TRIeTTl e T STR-YRAH & TE-IS

Roll No. T 39T foig |

Candidates must write the Code on
the title page of the answer-book.

PUAT ST H o 16 37 T § Higd g2 11 € |

TY-U H e 219 i 3R T T g T 1 3 SW-YRashl & J@-Je | o |

PUAT AT H T 6 3T IA-IT H 27 WA ¢ |

FUAT TI BT IR TG I HIA | U, I HT 5HHIS a9 ford |

TH TA-TF Wl U & U 15 e o 9e fea T e | U0 1 faeRer gaed | 10.15 59
fopam ST 1 10.15 &1 & 10.30 1 T ST FHa TE-0 I T@T R 39 fEtd & IR o
SAC-RAHT W he IR Tal fordwt |

Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

NECIGRERIG]

POLITICAL SCIENCE

freiie e 3 5v ] [ 3BT 37 1100
Time allowed : 3 hours | [ Maximum Marks : 100
AT a9t

(i) @ I9T AT & 1

(i) T WA - 5 7o Hedeh J9 Uk 36 &7 & | 578§ Hedah 79 &7 F 20 9Iss] & e 781

&Il TR |

(ili) 797 & 6 — 10 7% T 797 gt 371 FT & | 98 @ T 797 &7 I 40 I §

Y 781 817 T |

(iv) T97 &7 11 — 16 TF T8 T97 =T 371 &7 & | 377 @ Jeda 797 &1 3% 100 vI5i &

Y 781 817 T |

(v) 99 G&T17 21 TF Gl 597 GieT 371 &7 & | 399 @ Jeda 797 &1 37 150 91 &

34 781 817 T |

(vi) T%9 Q&7 21 HAEIE 9T SR 597 & | 39T IR 3791 ST F fofleag |
(vii) F99 G722 T 27 % I9% 599 & 3jH F & | 3799 § Jed% J97 &7 I 150 51 G

59/1/2

Y 781 81T T |
1 [P.T.O.



General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

1. e TN H B T T T KT I G 2

All questions are compulsory.

Questions number 1 — 5 are of 1 mark each. The answers to these questions should
not exceed 20 words each.

Questions number 6 — 10 are of 2 marks each. The answers to these questions
should not exceed 40 words each.

Questions number 11 — 16 are of 4 marks each. The answers to these questions
should not exceed 100 words each.

Questions number 17 — 21 are of 5 marks each. The answers to these questions
should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of 6 marks each. The answers to these questions
should not exceed 150 words each.

2x¥2=1

Which two major tasks were given to the Mandal Commission ?

2. TOIE THT QT Sga a8l Wl H qetadl sl IRUT <41, YR & foTT et deh ~AT=eTd o1 2

How far was it justified on the part of India to give asylum to Dalai Lama and a large
number of Tibetans ?

3. o % S¥EeRu] ol I FTel Ush SE0T ST |

Give an example to illustrate the globalization of services.

4. U9 @IS IF A B 5 HT Hel T ?
Why was the ‘First Gulf War’ called a ‘Computer War’ ?

5. TRHW] Ve 8 % STES[R, [T FETRIeRTEl 4 g R W g T el [T 2

Inspite of possessing nuclear power, why didn’t both the super powers go for a full-
fledged war ?

6. it i IR i fohE TRET 31K e 9

Who toppled the Berlin Wall and when ?
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7. STHOLY 99T SRIUTGRT St ot Ty | HTHITSTeh Setiel Sl eiehY 3 T Shilw | 2

Distinguish between the ideologies of the Left parties and the Rightists regarding
social change.

8. Tafeerm ol YRA H1 WeFRRS AT e ST o 2 2
Why was Sikkim called a ‘protectorate’ of India ?

9. Touml iR & fohgl 3 SHRE AT (GREHITM) hl SR T | 2x1=2

Highlight any two most novel aspects of the Chipko Movement.

10. 9 HHET SAledr 4 IShUHaE &l TR0 o G § i §1 Yegifes deh a1 21 2 2

What was the theoretical argument in defence of the concept of non-congressism as
given by Ram Manohar Lohia ?

11. iR § Tl ook 7 9 U o fohwal J1 SHROUT ol U I | 2x2=4
Describe any two factors responsible for Pakistan’s failure in building a stable
democracy.

12. SMETIT. &l fa%gd T F1 & 2 T ST Ha g8 o ? TP el 3 T 29T T Sooid
HIfT | 1+1+2=4

What does 1.A.E.A. stand for ? When was it established ? Mention any two of its
main objectives.

13. Vet it SYelehRoT 3T Ush HEwaqoT SHIRUT SRIT {IAT ST & 2 T SHiT | 4
Why is technology considered an important element of globalization ? Explain.

14, 9RA T UIY Y TG Y TH ST o, FAIH o IZeTd ARl i T DT | 4
Explain the changing methods of voting in India right from the First General Election
till to-day.

15. 1960 % 3TIh H, WE-MAFRRAT Hl GHRET H & 6T, IR TWHR §RT T & (o0
3TYATE TTE 7S IO T JoATh HIT | 4

Evaluate the new strategy for agriculture adopted by Government of India in order to
ensure food self-sufficiency in 1960s.

16. o ToreR Afufam @ = W & 2 I8 HE1 TRl a% Gl & o e § Herw
TSR ol 9 YA ¥ ST foRaT T ot 2 1+3=4

What is meant by Preventive Detention Act ? How far is it correct to say that
extensive use of preventive detention was made during the Emergency period ?
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17.

59/1/2

IR & 5T T Teriae Y@-aFtes |, 9 TS 6 @ , @ @ aﬁT@ R
fafera fFar T & 1 T § T TEHRI F IMER W, TR TEAH i 3T 0T ST
Rt B 3 TS o Tal AT, Fated SR st shaaEt qdr fafed 3»R afed fafaw |

In the political outline map of India given below, five States have been marked as

@, , @, @ and @ Identify them on the basis of the information given

below and write their correct names in your answer book along with their respective
serial numbers of the information used and the alphabet concerned.
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() Taus! TR ¥ SEtyd T |
(i) TR 3T i ST &7 T |
(il) 3feTa YU =t TUAT e T |

(iv) THST IR WIS aret 59 |

(v) Ea. TERETHE A H I T | 5x1=5

(1)  The State related to Chipko Movement.

(1)) The State of origin of Naxalite Movement.

(iii) The State where ‘Dalit Panthers’ was formed.

(iv) The State where Narmada Sagar Project is located.

(v) E.V.Ramaswami Naicker’s home State.

M. FAfciEd we haer gieartaa wdenfoat & fow, e = 17 § ®™|H W
TAfeRad weT & 3T ey

(17.1) FHRFETE! ot TR 68 T | § 2

(17.2) IR fRam gfae i o fohd 59 1 g8 2
(17.3) aTEt foRret TSI 1 J&T & v o9 § o7 2
(17.4) 3@ Tewg 3Te5oeT 1 T8 159 i 9T 47 2

(17.5) 1963 T HH & T T AT g2 T 2 5x1=5

Note : The following questions are for the Visually impaired Candidates only, in lieu
of Question No. 17. Answer the following questions :

(17.1) Naxalbari police station is located in which State ?
(17.2) In which State was Bhartiya Kisan Union formed ?

(17.3) Which State was the main area of functioning for the Anti-Arrack

Movement ?
(17.4) Name the home state of Sheikh Mohammad Abdullah.
(17.5) Which State was created in 1963 ?

59/1/2 5 [P.T.O.



18.

e (J)c New Qork Eimes =

BT, CAPNESOAY. ST 3 e

- US. ATEACKED

HIJACKED JETS DESTROY TWIN TOWERS
AND HIT PENTAGON IN DAY OF TERROR

whw%ww@wmﬁﬁqwﬁmﬁf&anﬁ%wﬁﬁq
(i)  3TIETTHTT B & 3R SBIH 30 §HCT Bl HY 3T 7 2

(i) T T 9
(iil)  STERIRT HaNTgET i Sgel I ATl $F FeAT Sl qoiT qaated [ J1 Hewaqul Herst
T B T Gbell & 2 2+1+2=5

Study the picture given above carefully and answer the following questions :
(1)  Who were the hijackers and how did they conduct the attack ?
(i)  What is Pentagon ?
(ii1)) In terms of their shocking effect on the Americans, the 9/11 attacks can be
compared to which two other important earlier incidents ?
A Fafafad T wae gieartaa weniaat & fag 7w 3@ 18 & ©H W E | 2+41+2=5
(18.1) 9/11 I 3TICIhag & foreeg TovareaTdt T T el STl & 2
(18.2) 9/11 I ST TR {hg STTHAUT T 2
(18.3) 9/11 =l FAT T STalTel STERIHT F fohd U T 2
Note : The following questions are for the visually impaired candidates only in lieu of
Question No. 18.
(18.1) Why is 9/11 called the ‘Global War on Terror’ ?
(18.2) Who carried out the attack on the U.S. on 9/11 ?
(18.3) How did the U.S. respond to the incident of 9/11 ?
59/1/2 6




19. T=AfAEd Tadior i eHgds Uiy 3] 915 | ST 7T UeAi o 3T ST

et T #i foRer Aifq ¥ 3TF S/EAl AR TR TUHRI H A HeAdt & | IR 6
AT SR 59 3T [aRT ¥ URa o7 S 3T 9RA @ O Afd w oo ugr |
TETETA, VR I T oo SASTRT Bt g8 39 9Hd Iads &1 SR) off & & I o7 |
IgE o 3R H ST 6 ST & Bl H 9 W o | U WH I SFET WgFT o9 AL AT
3R TEL T Wiiodd G | JHT THT o & fovear U3 3T, ST 31K =T Zoh0d STRY
a7 | SE 3R T WY T T o ST T ST, W] BN T I gam, o |
FHR T T SO g8 | SHIIORIERR0T i Fishar off g6l SR o 3R g5 o | 9IRd &
TS T SO T o TH WEH & S H WEA & |

() HEmIRE & S arel &1 T2 B §, YR fhar off sk | Infier i e gan 2
(i) TP ST U8y W, YR 319 U &l T & d 7@ 2

(iii) T feal P G HA Al FEE i fager Afd %, el 1 T 329l B IR
HIfT | 2+41+2=5

Study the following passage carefully and answer the questions that follow :

The foreign policy of a nation reflects the interplay of domestic and external factors.
Therefore, the noble ideals that inspired India’s struggle for freedom influenced the
making of its foreign policy. But India’s attainment of independence coincided with
the beginning of the Cold War era. This period was marked by the political, economic
and military confrontation at the global level between the two blocs led by the
superpowers, the US and the USSR. The same period also witnessed developments
like the establishment of the UN, the creation of nuclear weapons, the emergence of
Communist China and the beginning of decolonization. So, India’s leadership had to

pursue its national interests within the prevailing international context.

(1)  Why did India not join any of the two blocs led by the Superpowers ?

(i) How did India look after its national interests within the prevailing international
context ?

(1) Highlight any two major objectives of Nehru’s foreign policy, as a safeguard to

our national interests.
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20. T=TeREd STEdRoT Sl SAFYEH TieT qer e ST T ueH & 3T 3

T qHA T 170 <90, TSTRT WRHeT Wie T 3T Sgased et = 9 fofr | 39 Te
T U TTeT Ut (1987) 3T6R HH HEX Y adeis KU 9ut of | Ruie & = mn o
T enfaes fashm & =] dR-Rish 3T TeTehy feshTss Qifad &1 &nl | fava & sl feeg o
airenfiTes foreprg bt | TSt UeeT & 3% Ruid & 5t garel ¥ =T §F T2 o | 39 gre
H I 1T Gorsh? T RN 6 fovd o ot SR foehfaa 397 A STl Mells a9 TR 3R
ToepTaeier IT AT IR Mot TATEROT o STHT-3TeRT 31518 % URIR & | STRI 390 i e
oaT 3T WA o 8% 3R ATV Auglg (TSl SIET) I T o | IRToN S9T SR
Taepra S TaTeReT vere & S Red S Gerer & fore st fafad o |

() SWI ER Y o TAT bl T= B TS E 2
(i) Ve Tawe qon g fava & 31-37 39 o 19 fefay |

(i) N fIPra & URURE UfdEal H SRR gte T Tad AT F= e que
ST 2

1+2+2=5
Read the following passage carefully and answer the questions that follow :

This summit was attended by 170 states, thousands of NGOs and many multinational
corporations. Five years earlier, the 1987 Brundtland Report, Our Common Future,
had warned that traditional patterns of economic growth were not sustainable in the
long term, especially in view of the demands of the South for further industrial
development. What was obvious at this Summit was that the rich and developed
countries of the First World, called the ‘global North’, were pursuing a different
environmental agenda than the poor and developing countries of the Third World,
called the ‘global South’. Whereas the Northern states were concerned with ozone
depletion and global warming, the Southern states were anxious to address the

relationship between economic development and environmental management.
(1)  Which summit has been referred to in the passage given above ?
(i) Name two countries each from the First World and the Third World.

(ii1) Why were the traditional patterns of economic growth not considered to be
sustainable in the long term ?
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21. T=feIRad STaaRoT sl SAFYes UigU ol TEURId 3T aTet U1 o 3R JMTT

Iigg % STR-STSTHEe, A Tede 3TeT YIf-Uder T JIHeT 9 Fal o1 afeh
TR A1 FARERT & R W Al T ARt 99y SR A7 | {qeRer S oek 59 a9
T oY of fob W Tava | T, 2T 3R ATHIiSTeh STer 1 Goag i Sl T Jecy
Togia & Q1 & | TiYaHl TIeseE S SR SR o7 3K g ... foaRun & wnes
o7 | Ya TS T ST Wiadd T o7 31X 9 e Bl Ufaaigdr...... foareRy & faw o |

() 30 5 & oY SRR q=aan i 9 &1 HRE 9 2

(i) ufead TedeA fohe foamemT st Uidf-Tee shar or 2

(iii) YT TeaEA fRe ToaReRT ¥ uides o1 2

(iv) TUSICA fava i Iid J5 T T T =T et 2 2+1+1+1=5

Study the passage given below carefully and answer the questions that follow :

The Cold War was not simply a matter of power rivalries of military alliances and of
the balance of power. These were accompanied by a real ideological conflict as well,
a difference over the best and the most appropriate way of organizing political,
economic and social life all over the world. The Western Alliance, headed by the US,
represented the ideology of .......... while the Eastern Alliance, headed by the Soviet
Union was committed to the ideology of ............

(1)  Which two factors were mainly responsible for the Cold War ?
(1) What type of ideology did the Western Alliance represent ?

(ii1) The Eastern Alliance was committed to which ideology ?

(iv) What was the main advantage of the Cold War to the contemporary world ?

22. ¥R S Al S § S SR o fhel S: ol o Seoid ity | 6x1=6
YT
IRA 1Y Ta9Ier <97 & Ushdl & G § sed & fofu, fafaedr & ufd wiebaie geehior st
YT T UM FHitT | 6
Mention any six advantages of popular movements in a democratic set up like
India.
OR

Describe the usefulness of the democratic approach to the question of diversity to
unite a large country like India.
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23. T WHR T AFUNART & Srd ZhUel o [T STREE! TR sl T T | 6

YT
1967 % =S 3T TS o U, 9T H §U IR i AT HITT | 6
Explain the circumstances that were responsible for the confrontations between the

Union Government and the Judiciary.

OR

Explain the major changes which the country witnessed at the time of Fourth General

Election in 1967.

24. IRUE FE F ST TAT ISHITH T T FSReAToT ity | 3+3=6
arar
TR 3R TR o s1e q1el o foheal o= &= ST URIeT0T HifeTq | 3x2=6

Analyse the economic and political influence of the European Union.
OR

Examine any three major areas of conflict between India and Pakistan.

25. 5T IS ERT I HIH T AT 2 Th! T (w1 o7 off 2 5 FHwRIReT o TR o 3
FHIATE! Tl TS 2 2+2+2=6

YT

AT T foRRRIcHS TeddT & ®9 U, HIUF UTel Sl SRV T [o9eiuuT shifsu |

3+3=6

What was the task of the State Reorganization Commission ? What was its most

salient recommendation ? What action was taken on the basis of this recommendation ?
OR
Analyse the functioning of the Congress Party as a social and ideological coalition.

59/1/2 10



26. TIF AT &F UG Sl FeAldg BT a2l 390 F [l 3T F HAt Hau DT | 2+4=6
et
T YR il TRUNER STTERUN & [l o H2ehl 31 JUH iU | 3x2=6

List the principal organs of the United Nations and describe the functions of any two

of them.
OR

Describe any three components of the traditional notion of external security.

27. T 1 (AT Hehe T AT ? $h &1 & % o HSAhY i AT HiTT | 2+4=6
reram
[ifaraa 99 & faeed & [T Mg F&l d% ISR 41 2 ST Hife | 6

What was meant by Cuban Missile Crisis ? Explain the course of events till it got

resolved.

OR

How far was Gorbachev responsible for the disintegration of the Soviet Union ?

Explain.

59/1/2 11
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